?.EA solid cube is cut into three
cuboids of same vqumes;_l
What is the ratio of the

- | surface area of the cube to
3 the sum of the surface area
2 3 E of any two of the cuboids so
3 formed?
2 T 3 O & HAN
AT arel e gt A
M___Q_ &(q'”“'s) FIeT SaT &1 O & AT
3 10 =20 g AR e AT fret

ar gal & g8 aTAwd
& ART T FT IFIT FAT
87

#9:10 b) 27:16
c) 27:10 d) 9:8

| SSC CGL T2, 12 Sep 2019 S1 |
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8.

A right circular cylinder has
height as 18cm_and radius as
7cm.Ehe cylinder is cut in three
equal parts (by 2 cuts parallel
to baseg What is the
percentage increase in total
surface area?

T oFadd JehR Sold I
dqFaTE 18 cm 4T BRSAT 7 em
g o F AT sET s
A FET G § (MUR F
HATATT 2 Fed g@RI)| Fel
g Qe & raa

gRaera #1 geeh 8§ &7
62 56"
c) 48 d) 52

| | 3



9.A solid cube has side 8 cm.
it is cut along diagonals of
L@ﬁ'\'g)xg"';'&,l_xqu*wfz wfz top face to get 4 equal
/ parts. What is the total
surface area ( in cm?) of
= each part?
6‘4\]'21%(47«3;2 TH O Gl & T 8
cm 8] 98 W F
2 W 4 WA HEY H
FIET AT 8§ IAF T
HT P TOIT &A%
(em? K| ) FT e7?
96 + 642
b) 80 + 64+/2
c) 96 + 48v2
d) 80 + 482

| | 4




lo- If a sphere of radius 7 is divided into fourf identical]parts, then the total
surface area of the four parts is

IR r AT arek fFEY M Y 4 AT AWN A HIeT AT dr gt
aqwﬁa:rgw»rmwﬁ»—clmam?

a) 4mr? units b) 27t12 units 8mr? units d) 37?2 units
I ot —Q Grde + Umyuorz gnrs?
2 0As = Y cirdher added
= Uxv®

NTATANY

_ 5




(I- A spherical steel ball was silver polished then it was cut into 4 similar
pieces. What is ratio of the polished area to the non polished area:

T&h R T dfe ) Rear Nfder Far o= 3k 4 gaew
fewat & @rer arn_ e gr R ik e afer ge fRww &
a%anm’rmmﬁmmam'?

11 b)12 c)2:1 d) can’t be determined

6\d SA=ynr*= QU Y Grdu 2dd

.NM — (/’_—\wx'mz

_ 6




12+ A sphere of radius 14 cm is cut into 8

_ 2 identical parts by 3 cuts (1 cut along each

old SA =Ym7 p axis). What will be the total surface area ( in

= 20de— O Cirdert  cm?) of each part?

N(MSA_é’qu_ TH 14 cm [E3d1 9 e T 3 FeE

- (IAs 37187 9T 1 ?a) TIAMHT 8 FATT

g T - ¢ = HEN A FIET AT §| TP AT FT Fel
meg sA= 107 02 S8 &G (cm? ) FT 87

%Ch TSA - |0*%“"-=x45t)6-‘1- a) 1640 %770 c) 3080 d) 680

‘%@'




1. Radius of base of a hollow cone is 8cm and its height is 15c¢m . A sphere of
largest_radius is put inside the cone. what is the ratio of radius of base of
cone to the radius of sphere?

UF T OF F JUR A BT 8om a9 39 39 15cm e TR
T ST dlem UH AT 3E 4F A SToT ST § AF & U A
Rrsar &1 M A Bear { 41 Aqura 2
A5:3 b4l o2:1 A d)7:3

I wedhod ' (Zf VM)

|CGL 2017 T-2 |
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A 92.A sphere is placed in an inverted

hollow conical vessel of base radius
v 2 25 7cm and vertical height 24cm. If the
highest point of the sphere is at the
B 7p1 C level of base of the cone. Then what
A=Y S is the ratio of the volume of the
sphere to that of the conical vessel?
7x’:§r: Yxé‘;z 7cm IMUR B3=AT 3R 24cm Fea
3§ 9@ TH  Joc @A
A=y AFAHPR add A TH el @M
Y T ¥ ARy WS T Ioaan W
O A 3y T IF F IUN F TR W A,
NSt _gs;ﬂﬁa:maﬁtammaﬁ?r
JAN y TS FT AT FAT Q7
B r I ;Xzér a) 63: 256 “b) 21: 64

y63: 128 d) 21: 96

| ICAR, 28 Feb 2022, 51 11



3.-A spherical ball of radius

1 cmis dropped into a conical

vessel of radius 3 cm and slant

height 6 cm. The volume of

+ @ N water ( in cm?) that can just
immerse the ball, is

SW\au, Waltr, 1cm B=ar HTGﬁ' TH MR

g W‘“ﬂ' N 3 cm Bsar 3k

(v P 6 cm fateh 3\_t|1§ aredl TH

AFITHR T H STeM STl

Small. (owe_ = %‘| 9l &1 98 AaddT (cm?
N‘é’;""g’\"‘}“ #) g &0 SR g o

v
daig g9 STq|
51 T
3 P
c)3m d)4—n

12
|CGL 2014 T-2 |
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Wikt Volume= Gnall bome— Sphds

= 1 zx> Y nxi®
% 2

7

—
=

5
3




Y. A cube is placed inside a cone of

radius 20cm and height 10+/3 cm,
one of its face being on the base of

IOI A% the cone and vertices of opposite
face touching the cone. What is the
- c Iofg length of side of the cube?
' U U F 0F AF fowd B
o . 20cm d9T 391§ 10V3cm § &
..._,i 3ee] I@T ATl § 3HH TF g
-I---‘ 9F F WUR W @ § oaw
C ol was & o o &1 waef
«—720 — FT @ ¢ Ul Y AT HT FATS
Fa1 872
- 20V6 10V6
_) J—?>Q.=|0J’6_ZJ"2&' :XQQ'L\(‘OR a)Z\/§+\/§ )Z\/E+\/§
2X — = 20V6 10v6
NETEARS NG Az




d& L. The radius of cone is V2 times
the height of the cone. A cube of
maximum possible volume is cut
from the same cone. What is the
ratio of the volume of the cone
to the volume of the cube?

fret o #1 B @
mwﬁmﬂ%|3vew#
¥ FSaH 3rrq?r-r BT
T FET AT ¥ AF F
3maae 3R O & rade &
E LG C U

a)3.18m g 2.25m
c)2.35nr d)3.24m

16



é- A right circular cylinder is covered

A by a cone, of height 30 cm, as
>, shown in the figure. The vertical
angle of the cone is 60° and the
diameter of the cylinder is 8v/3 cm.
What is the volume of the

TI x16x%x 18 cylinder?
UF FAJATHR o H T A,
ey 3\_tl'l'§ 30cm &, CEI T
T g S #r & Ram

mn%| aF &1 Y FHor 600 T
3R ST FT AW 8V3 cm ] A

T TAdT IaT F]

a) gn cm? b) 3000 cm?

c) 48601 cm? gﬁ/ 8641
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A sphere passes through the

. 9-
: al dd J= QPW JAQW\&M eight corners of a cube of side 14

¢m. Find the volume (in cm?) of
the sphere. Take T = 22 /7

7 TS M 14 cm ST I GeF &
e Cinbe, M & AT AT W
vi=r (em®A )Im=22/7 d
Aa012V2 K 4312v2
Y x 22 x IxXI7% _ 40123 A) 431273
T 3J3 =




fo- A cube of maximum volume

% oka?emo& pr ciomadif (each corner touching the

surface from inside) is cut
from a sphere. What is the
J—é Q= 2 7 ratio of the volume of the
5 K.z cube to that of the sphere?
Yy J? Pl @ & @ w
FfqFaR AAAT FT A
2 ?mm ST 8] 89 & 3madaed
M & AT HT
Cuke__ B3 -
= = 37T FT 872
SP'\M )‘(%ﬂxféfg a)3:4m b)V3:2m
/2 V3w d)4:3m

CDS 20181 21



(D Gube. inmde gpha’s
Cubt d/(mrmngf— Tphse ot

() Sphos imatde Cunbe”
Gabe. Aide= Sphire, digmdin

22



I|.A cube inscribed in a sphere ‘A’

~ f"& A circumscribes a sphere ‘B’. Find

ZXYA - the ratio of volume of sphere A
vV = f’ﬁ B and sphere B. '

A= = TH M A H 3chot

Ul TH T B HT WY FT

27, = | ) et A 3R A B F A

B =1 FT AT Tl ST

-1 a)1:3 b)3:1
% 2 Yn ;\_J_‘;Jyt c)v3:1 ﬁ3x/§:1

Y% XN

23



|2 Two identical hemispheres of

maximum possible size are cut
from a solid cube of side 14cm.
The bases of the hemisphere are
part of the two opposite faces of
cube. What is the total volume of
the remaining part of the cube?

& FART HOFIA THT AT
aret redifell & Uh 14cm TSIt
gt 3 " ¥ FET AT &
yeaifell & WUR T F A
Rl oo & AT § " &
QY ST HT Fel AT FAT 2
a) 1556.33 b) 898.5

c) 1467.33 4/1306.67

| SSC CGL T2 19 Feb 2018 | 24
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JY. Two spheres of equal radius are taken out
by cutting from a solid cube of side

(12 + 4V3) cm. What is the maximum

volume of each sphere?
AT BT arek & Mok Y TH 39

e fo@dr & (12+44V3)om ® @
FIc T AFar AT T I_AF A FT
FfFdA TAdT FIAT 82

a)1077.31 b)905.14

c)966.07 57 4)1007.24

2J%r+2r=(\z+\1j3)j% ' 0
D2 ; 2 I By bovg $336 _
2 M'Mﬂﬁxh R =905
=4

1 i
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